

Zeitschrift: L'Enseignement Mathématique
Herausgeber: Commission Internationale de l'Enseignement Mathématique
Band: 19 (1973)
Heft: 3-4: L'ENSEIGNEMENT MATHÉMATIQUE

Artikel: ASYMPTOTIC PROPERTIES OF LINEAR OPERATORS
Autor: Bojanic, R. / Vuilleumier, M.
Kapitel: 4. Proofs.
DOI: <https://doi.org/10.5169/seals-46293>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften auf E-Periodica. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. Das Veröffentlichen von Bildern in Print- und Online-Publikationen sowie auf Social Media-Kanälen oder Webseiten ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. [Mehr erfahren](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. La reproduction d'images dans des publications imprimées ou en ligne ainsi que sur des canaux de médias sociaux ou des sites web n'est autorisée qu'avec l'accord préalable des détenteurs des droits. [En savoir plus](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. Publishing images in print and online publications, as well as on social media channels or websites, is only permitted with the prior consent of the rights holders. [Find out more](#)

Download PDF: 16.01.2026

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

Finally, the analog of Theorem 3 can be stated as follows:

THEOREM 6. Let $\Psi: \mathcal{M}_0 \rightarrow \mathcal{F}_0$ be a regular operator. In order that

$$(3.11) \quad \frac{\Psi(L, x)}{L(x)} \rightarrow 1 \quad (x \rightarrow \infty)$$

holds for every SV function $L \in \mathcal{M}_0$ it is necessary and sufficient that

$$(3.12) \quad \Psi(1, x) \rightarrow 1 \quad (x \rightarrow \infty),$$

and that the asymptotic relations (3.9) and (3.10) hold for some $\eta > 0$.

4. PROOFS.

4.1. *Proof of Theorem 1.* The sufficiency of condition (2.2) follows from the inequality

$$|\Psi(f, x)| \leq V_\Psi(1, x) \|f\|.$$

The necessity of (2.2) is proved by way of contradiction. Suppose that (2.2) is not satisfied. Then

$$(4.1.1) \quad \limsup_{x \rightarrow \infty} V_\Psi(1, x) = \infty.$$

In view of (4.1.1), (2.1) and the properties of Ψ , it is possible to find by induction an increasing sequence (x_k) going to infinity and a sequence (g_k) of functions in \mathcal{M}_0 such that, if A_k is defined by $A_k = V_\Psi(1, x_k)$, then

$$(4.1.2) \quad A_1 \geq 16 \text{ and } A_k \geq 16 A_{k-1}, \quad k = 2, 3, \dots,$$

$$(4.1.3) \quad A_k \geq 16 \left(\sup_{x \in R^+} |\Psi(\sum_{i=1}^{k-1} \frac{g_i}{\sqrt{A_i}}, x)| \right)^2, \quad k = 2, 3, \dots,$$

and

$$(4.1.4) \quad |g_k| \leq 1, \quad |\Psi(g_k, x_k)| \geq \frac{3}{4} A_k, \quad k = 1, 2, \dots$$

Let

$$(4.1.5) \quad g(x) = \sum_{i=1}^{\infty} \frac{g_i(x)}{\sqrt{A_i}}.$$

By (4.1.2) and (4.1.4), this series is uniformly convergent and consequently g is in \mathcal{M} . Also, g is bounded on R^+ since

$$|g(x)| \leq \sum_{i=1}^{\infty} \frac{|g_i(x)|}{4^i} \leq \frac{1}{3}.$$

We shall show now that

$$(4.1.6) \quad |\Psi(g, x)| \rightarrow \infty \quad (x \rightarrow \infty),$$

which is impossible by (2.1). Hence, (2.2) must be satisfied.

From the definition of g follows that

$$\begin{aligned} |\Psi(g, x_k)| &\geq \frac{|\Psi(g_k, x_k)|}{\sqrt{A_k}} - \left| \Psi\left(\sum_{i=1}^{k-1} \frac{g_i}{\sqrt{A_i}}, x_k\right) \right| \\ &\quad - \left| \Psi\left(\sum_{i=k+1}^{\infty} \frac{g_i}{\sqrt{A_i}}, x_k\right) \right|. \end{aligned}$$

By (4.1.3) we have

$$\left| \Psi\left(\sum_{i=1}^{k-1} \frac{g_i}{\sqrt{A_i}}, x_k\right) \right| \leq \frac{\sqrt{A_k}}{4}.$$

Finally, by (4.1.4) and (4.1.2)

$$\left| \sum_{i=k+1}^{\infty} \frac{g_i(t)}{\sqrt{A_i}} \right| \leq \sum_{i=k+1}^{\infty} \frac{1}{\sqrt{A_i}} \leq \frac{1}{\sqrt{A_k}} \sum_{i=k+1}^{\infty} \frac{1}{4^{i-k}} \leq \frac{1}{3\sqrt{A_k}}.$$

Since Ψ is a regular operator, it follows that

$$\left| \Psi\left(\sum_{i=k+1}^{\infty} \frac{g_i}{\sqrt{A_i}}, x_k\right) \right| \leq \frac{1}{3\sqrt{A_k}} V_{\Psi}(1, x_k) = \frac{1}{3} \sqrt{A_k}.$$

From these inequalities follows that

$$|\Psi(g, x_k)| \geq \frac{3}{4} \sqrt{A_k} - \frac{1}{4} \sqrt{A_k} - \frac{1}{3} \sqrt{A_k} = \frac{1}{6} \sqrt{A_k} \geq \frac{1}{6} 4^k,$$

and (4.1.6) is proved.

The arguments used here are essentially the same as the ones in the proof of Nakano's Theorem [6, Ch. IX] that the limit of a sequence of regular functionals is a regular functional.

4.2. Proof of Theorem 2. The proof of Theorem 2 is quite similar. The sufficiency of condition (2.4) follows from the inequality

$$| \Psi(f, x) | \leq W_{\Psi}(1, x) \|f\|.$$

The necessity of condition (2.4) is proved by way of contradiction. If (2.4) is not satisfied, it is possible to construct by induction an increasing sequence (x_k) going to infinity and a sequence (g_k) of functions in \mathcal{M}_0 such that, if A_k is defined by $A_k = W_{\Psi}(1, x_k)$, the inequalities (4.1.2), (4.1.3) and (4.1.4) are satisfied and moreover

$$|g(x)| < \frac{1}{2^k}, \text{ for all } x \geq x_k, \quad k = 2, 3, \dots$$

and

$$g_k(x) \rightarrow 0 \quad (x \rightarrow \infty).$$

The function g defined by (4.1.5) has then the properties

$$g(x) \rightarrow 0 \quad (x \rightarrow \infty)$$

and

$$| \Psi(g, x_k) | \rightarrow \infty \quad (k \rightarrow \infty).$$

This contradicts hypothesis (2.3) and the necessity of condition (2.4) is proved.

4.3. *Proof of Theorem 3. (Sufficiency).* We have

$$| \Psi(f, x) - c | \leq | \Psi(f - c, x) | + |c| \cdot | \Psi(1, x) - 1 |.$$

Given $\varepsilon > 0$, let X_{ε} be such that $|f(t) - c| \leq \varepsilon$ for all $t \geq X_{\varepsilon}$ and let

$$g_1(t) = (f(t) - c) \chi_{[0, X_{\varepsilon}]}(t),$$

$$g_2(t) = (f(t) - c) \chi_{(X_{\varepsilon}, \infty)}(t).$$

We then have

$$| \Psi(f - c, x) | \leq | \Psi(g_1, x) | + | \Psi(g_2, x) |.$$

Hence,

$$(4.3.1) \quad \begin{aligned} | \Psi(f, x) - c | &\leq | \Psi(g_1, x) | \\ &+ | \Psi(g_2, x) | + |c| \cdot | \Psi(1, x) - 1 |. \end{aligned}$$

First, we have $|g_2(t)| \leq \varepsilon$ for every $t \in \mathbb{R}^+$ and $g_2 = o(1)$. Hence, by definition of W_{Ψ} ,

$$(4.3.2) \quad | \Psi(g_2, x) | \leq \varepsilon W_{\Psi}(1, x).$$

Next, we can find a simple function $h = \sum_{i=1}^N A_i \chi_{E_i}$, where E_i , $i = 1, \dots, N$ are measurable subsets of $[0, X_\varepsilon]$, such that

$$|h(t)| \leq \|g\| \chi_{[0, X_\varepsilon]}(t) \text{ and } \|g - h\| < \varepsilon.$$

Then

$$(4.3.3) \quad |\Psi(g_1, x)| \leq |\Psi(g_1 - h, x)| + |\Psi(h, x)| \\ \leq \varepsilon W_\Psi(1, x) + \sum_{i=1}^N |A_i| |\Psi(\chi_{E_i}, x)|.$$

From (4.3.1), (4.3.2), (4.3.3) and the hypotheses (2.7) and (2.8) follows finally that

$$\limsup_{x \rightarrow \infty} |\Psi(f, x) - c| \leq 2\varepsilon \|W_\Psi(1, \cdot)\|$$

and Theorem 1 is proved since ε can be chosen arbitrarily small.

(Necessity). The necessity of condition (2.9) follows from Theorem 2. The necessity of conditions (2.7) and (2.8) is obvious.

4.4. Proof of Theorem 4. (Sufficiency). Let l be any O -regular function in \mathcal{M}_0 . Define p_α and q_α by

$$(4.4.1) \quad p_\alpha(x) = \sup_{0 \leq t \leq x} l(t) (\chi_{[0,1]}(t) + t^\alpha \chi_{(1,\infty)}(t))$$

and

$$(4.4.2) \quad q_\alpha(x) = \sup_{t \geq x} l(t) t^{-\alpha},$$

Then it can be shown, using representation (3.3), that there exists $\alpha > 0$ such that

$$(4.4.3) \quad p_\alpha(x) = O(x^\alpha l(x)) \quad (x \rightarrow \infty)$$

and

$$(4.4.4) \quad q_\alpha(x) = O(x^{-\alpha} l(x)) \quad (x \rightarrow \infty).$$

To show that (3.5) is satisfied, we start with the inequality

$$(4.4.5) \quad |\Psi(l, x)| \leq |\Psi(l\chi_{[0,x]}, x)| + |\Psi(l\chi_{(x,\infty)}, x)|.$$

First we have by (4.4.1)

$$\begin{aligned} & l(t) \chi_{[0,x]}(t) \\ &= l(t) (\chi_{[0,1]}(t) + t^\alpha \chi_{(1,\infty)}(t)) \chi_{[0,x]}(t) (\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t)) \\ &\leq p_\alpha(x) (\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t)) \end{aligned}$$

for all $t \geq 0$. Likewise, by (4.4.2), we have

$$l(t) \chi_{(x,\infty)}(t) \leq q_\alpha(x) t^\alpha$$

for all $t \geq 0$. By definition of V_Ψ and (4.4.5), it follows then that

$$|\Psi(l, x)| \leq p_\alpha(x) V_\Psi(\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t), x) + q_\alpha(x) V_\Psi(t^\alpha, x).$$

Hence

$$\begin{aligned} \frac{1}{l(x)} |\Psi(l, x)| &\leq \left(\frac{p_\alpha(x)}{x^\alpha l(x)} \right) x^\alpha V_\Psi(\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t), x) \\ &\quad + \left(\frac{q_\alpha(x)}{x^{-\alpha} l(x)} \right) x^{-\alpha} V_\Psi(t^\alpha, x), \end{aligned}$$

and (3.5) follows from (4.4.3), (4.4.4) and hypotheses (3.6) and (3.7).

(Necessity). Let $\alpha > 0$ and let $f \in \mathcal{M}_0$ be a bounded function on R^+ . Let

$$g(x) = (2\|f\| + f(x))x^\alpha.$$

Then g is an O -regular function, and

$$\begin{aligned} \frac{1}{x^\alpha} \Psi(f(t) t^\alpha, x) &= \frac{1}{x^\alpha} \Psi(g, x) - \frac{2\|f\|}{x^\alpha} \Psi(t^\alpha, x) \\ &= (2\|f\| + f(x)) \frac{\Psi(g, x)}{g(x)} - \frac{2\|f\|}{x^\alpha} \Psi(t^\alpha, x). \end{aligned}$$

Hence, by (3.5), we have

$$\Psi(f(t) t^\alpha, x) = O(x^\alpha) \quad (x \rightarrow \infty),$$

for every bounded function f in \mathcal{M}_0 . Thus, the regular operator Ψ_α defined by

$$\Psi_\alpha(f, x) = \frac{1}{x^\alpha} \Psi(f(t) t^\alpha, x)$$

transforms every bounded function in \mathcal{M}_0 into a bounded function. By Theorem 1, it follows that

$$(4.4.6) \quad V_{\Psi_\alpha}(1, x) = O(1) \quad (x \rightarrow \infty).$$

But given any $g \in \mathcal{M}_0$ such that $|g(t)| \leq t^\alpha$, we have

$$|\Psi(g, x)| = \left| \Psi\left(\frac{g(t)}{t^\alpha}, x\right) \right| = x^\alpha \left| \Psi_\alpha\left(\frac{g(t)}{t^\alpha}, x\right) \right| \leq x^\alpha V_{\Psi_\alpha}(1, x).$$

Hence, the supremum of the left hand side over all $g \in \mathcal{M}_0$ such that $|g(t)| \leq t^\alpha$ must satisfy the same inequality:

$$|V_\Psi(t^\alpha, x)| \leq x^\alpha V_{\Psi_\alpha}(1, x)$$

and (3.6) follows by (4.4.6).

The proof of (3.7) is similar to that of (3.6) except that the function t^α , $\alpha > 0$, has to be replaced in the argument by the function $\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t)$.

4.5. *Proof of Theorem 5. (Sufficiency).* Given any *SV* function $L \in \mathcal{M}_0$ and any $\eta > 0$, let

$$P_\eta(x) = \sup_{0 \leq t \leq x} t^\eta L(t)$$

and

$$Q_\eta(x) = \sup_{t \geq x} t^{-\eta} L(t).$$

Then

$$(4.5.1) \quad \frac{P_\eta(x)}{x^\eta L(x)} \rightarrow 1 \quad (x \rightarrow \infty)$$

and

$$(4.5.2) \quad \frac{Q_\eta(x)}{x^{-\eta} L(x)} \rightarrow 1 \quad (x \rightarrow \infty).$$

The proofs of these relations for continuous *SV* functions can be found in [12] and [13]. For measurable *SV* functions, the proofs follow easily from the representation theorem.

Clearly, if P_η is defined by

$$(4.5.3) \quad P_\eta(x) = \sup_{0 \leq t \leq x} (\chi_{[0,1]}(t) + t^\eta \chi_{(1,\infty)}(t)) L(t),$$

it will have again the property (4.5.1).

To prove that (3.8) is satisfied, we start with the inequality

$$(4.5.4) \quad |\Psi(L, x)| \leq |\Psi(L\chi_{[0,x]}, x)| + |\Psi(L\chi_{(x,\infty)}, x)|.$$

First we have by (4.5.3),

$$\begin{aligned} & L(t) \chi_{[0,x]}(t) \\ &= (\chi_{[0,1]}(t) + t^\eta \chi_{(1,\infty)}(t)) L(t) \chi_{[0,x]}(t) (\chi_{[0,1]}(t) + t^{-\eta} \chi_{(1,\infty)}(t)) \\ &\leq P_\eta(x) (\chi_{[0,1]}(t) + t^{-\alpha} \chi_{(1,\infty)}(t)) \end{aligned}$$

for all $t \geq 0$. Since

$$L(t) \chi_{[0,x]}(t) = o(t^{-\eta}) \quad (t \rightarrow \infty),$$

it follows, by definition of W_Ψ , that

$$|\Psi(L\chi_{[0,x]}, x)| \leq L(x) \left(\frac{P_\eta(x)}{x^\eta L(x)} \right) x^\eta W_\Psi(\chi_{[0,1]}(t) + t^{-\eta} \chi_{(1,\infty)}(t), x).$$

By (4.5.1) and hypothesis (3.10), it follows that

$$(4.5.5) \quad |\Psi(L\chi_{[0,x]}, x)| = O(L(x)) \quad (x \rightarrow \infty).$$

In a similar way we have

$$L(t) \chi_{(x,\infty)}(t) \leq Q_\eta(x) t^\eta,$$

for all $t \geq 0$, and

$$L(t) = o(t^\eta) \quad (t \rightarrow \infty).$$

Hence, by definition of W_Ψ , it follows that

$$|\Psi(L\chi_{(x,\infty)}, x)| \leq L(x) \left(\frac{Q(x)}{x^{-\eta} L(x)} \right) x^{-\eta} W_\Psi(t^\eta, x).$$

Using (4.5.2) and hypothesis (3.9) we find that

$$(4.5.6) \quad |\Psi(L\chi_{(x,\infty)}, x)| = O(L(x)) \quad (x \rightarrow \infty).$$

From (4.5.4), (4.5.5) and (4.5.6) follows finally that

$$\Psi(L, x) = O(L(x)) \quad (x \rightarrow \infty).$$

(Necessity). We shall prove first that, if (3.8) is true for all SV functions $L \in \mathcal{M}_0$, then

$$(4.5.7) \quad W_\Psi(L, x) = O(L(x)) \quad (x \rightarrow \infty).$$

Let f be a function in \mathcal{M}_0 such that $f(x) \rightarrow 0$ ($x \rightarrow \infty$), and let

$$l(x) = (2 \|f\| + f(x)) L(x).$$

The function l is clearly a SV function in \mathcal{M}_0 and we have

$$\Psi(l, x) = 2 \|f\| \Psi(L, x) + \Psi(fL, x).$$

If we define Ψ_L by

$$\Psi_L(f, x) = \frac{1}{L(x)} \Psi(fL, x)$$

then Ψ_L is a regular operator and

$$(4.5.8) \quad \Psi_L(f, x) = (2 \|f\| + f(x)) \frac{1}{l(x)} \Psi(l, x) - \frac{2 \|f\|}{L(x)} \Psi(L, x).$$

Since, by hypothesis, $\Psi(l, x) = O(l(x))$ and $\Psi(L, x) = O(L(x))$ ($x \rightarrow \infty$), the operator Ψ_L transforms every function f in \mathcal{M}_0 that converges to zero as $x \rightarrow \infty$ into a bounded function. Hence by Theorem 2, we must have

$$W_{\Psi_L}(1, x) = O(1) \quad (x \rightarrow \infty).$$

Take now any $g \in \mathcal{M}_0$ such that $|g| \leq L$ and $g = o(L)$.

We then have

$$|\Psi(g, x)| = L(x) |\Psi_L(\frac{g}{L}, x)| \leq L(x) W_{\Psi_L}(1, x)$$

and it follows that

$$W_{\Psi}(L, x) \leq L(x) W_{\Psi_L}(1, x) = O(L(x)) \quad (x \rightarrow \infty).$$

Thus (4.5.7) is proved.

Note that we have in particular

$$(4.5.9) \quad W_{\Psi}(1, x) = O(1) \quad (x \rightarrow \infty).$$

We shall now prove that relation (4.5.7) implies (3.9).

Suppose by way of contradiction that there exists no $\eta > 0$ such that (3.9) holds. Then

$$\limsup_{x \rightarrow \infty} x^{-1/n} W_{\Psi}(t^{1/n}, x) = \infty, \text{ for } n = 1, 2, \dots$$

It is then possible to construct by induction a sequence of numbers (x_n) and a sequence (g_n) of functions in \mathcal{M}_0 such that for all $n = 1, 2, \dots$,

$$(4.5.10) \quad \begin{aligned} x_{n+1} &\geq 2x_n, \quad x_1 > 0, \\ W_{\Psi}(t^{1/n}, x_n) &\geq nx_n^{1/n}, \end{aligned}$$

$$|g_n(x)| \leq x^{1/n}, \quad g_n(x) = o(x^{1/n}) \quad (x \rightarrow \infty),$$

$$(4.5.11) \quad |\Psi(g_n, x_n)| \geq \frac{3}{4} W_\Psi(t^{1/n}, x_n)$$

and

$$(4.5.12) \quad |g_n(t)| \leq \frac{1}{2} t^{1/n}, \quad \text{for } t \geq x_{n+1}.$$

Let

$$\varepsilon(u) = \begin{cases} 0, & 0 \leq u < x_1, \\ \frac{1}{n}, & x_n \leq u < x_{n+1}, \quad n = 1, 2, \dots, \end{cases}$$

and

$$L(x) = \exp\left(\int_0^x \frac{\varepsilon(u)}{u} du\right).$$

L is clearly a continuous and increasing SV function. We shall show that L does not satisfy condition (4.5.7).

If $x_n \leq t < x_{n+1}$, we have

$$\frac{L(t)}{L(x_n)} = \exp\left(\int_{x_n}^t \frac{\varepsilon(u)}{u} du\right) = \left(\frac{t}{x_n}\right)^{1/n}.$$

Since $|g_n(t)| \leq t^{1/n}$ for all $t \in \mathbb{R}^+$, we have

$$\begin{aligned} |g_n(t)| \chi_{[x_n, x_{n+1}]}(t) &\leq t^{1/n} \chi_{[x_n, x_{n+1}]}(t) \\ &\leq x_n^{1/n} \frac{L(t)}{L(x_n)} \chi_{[x_n, x_{n+1}]}(t) \leq x_n^{1/n} \cdot \frac{L(t)}{L(x_n)}. \end{aligned}$$

On the other hand

$$|g_n(t)| \chi_{[x_n, x_{n+1}]}(t) = o\left(\frac{L(t)}{L(x_n)} x_n^{1/n}\right) \quad (t \rightarrow \infty).$$

Hence, by definition of W_Ψ , for $n = 1, 2, \dots$, we have the inequality

$$(4.5.13) \quad |\Psi(g_n \chi_{[x_n, x_{n+1}]}, x_n)| \leq \frac{1}{L(x_n)} x_n^{1/n} W_\Psi(L, x_n).$$

By linearity of Ψ , we have

$$\begin{aligned} & | \Psi (g_n \chi_{[x_n, x_{n+1}]}, x) | \\ & \geq | \Psi (g_n, x_n) | - | \Psi (g_n \chi_{[0, x_n]}, x_n) | - | \Psi (g_n \chi_{(x_{n+1}, \infty)}, x_n) | . \end{aligned}$$

Using (4.5.11), (4.5.12) and the definition of W_Ψ , we find that

$$\begin{aligned} (4.5.14) \quad & | \Psi (g_n \chi_{[x_n, x_{n+1}]}, x_n) | \\ & \geq \frac{3}{4} W_\Psi (t^{1/n}, x_n) - x_n^{1/n} W_\Psi (1, x_n) - \frac{1}{2} W_\Psi (t^{1/n}, x_n) . \end{aligned}$$

From (4.5.13), (4.5.14) and (4.5.10) it follows that

$$\begin{aligned} \frac{1}{L(x_n)} W_\Psi (L, x_n) & \geq \frac{1}{4} x_n^{-1/n} W_\Psi (t^{1/n}, x_n) - W_\Psi (1, x_n) \\ & \geq \frac{1}{4} n - W_\Psi (1, x_n) \rightarrow \infty \quad (n \rightarrow \infty) . \end{aligned}$$

But this is impossible, by (4.5.7). This contradiction proves the necessity of condition (3.9.)

In order to prove (3.10), observe first that, in view of the inequality

$$\begin{aligned} & W_\Psi (\chi_{[0,1]}(t) + t^{-\eta} \chi_{(1,\infty)}(t), x) \\ & \leq W_\Psi (\chi_{[0,1]}(t) + t^{-\eta} \chi_{(1,x)}(t), x) + x^{-\eta} W_\Psi (1, x) , \end{aligned}$$

which is valid for all $x > 1$, and (4.5.9), it is sufficient to prove that for some $\eta > 0$

$$(4.5.15) \quad W_\Psi (\chi_{[0,1]}(t) + t^{-\eta} \chi_{(1,x)}(t), x) = O(x^{-\eta}) \quad (x \rightarrow \infty) .$$

Suppose, by way of contradiction, that (4.5.15) is not true. Let

$$h_n(t) = \chi_{[0,1]}(t) + t^{-1/n} \chi_{(1,\infty)}(t) .$$

Then we have

$$\limsup_{x \rightarrow \infty} x^{1/n} W_\Psi (h_n \chi_{[0,x]}, x) = \infty, \quad n = 1, 2, \dots .$$

It follows that we can find a sequence (x_n) of numbers and a sequence (f_n) of functions in \mathcal{M}_0 such that

$$x_1 > 1, \quad x_n \rightarrow \infty \quad (n \rightarrow \infty) ,$$

$$(4.5.16) \quad x_n^{1/n} W_\Psi (h_n \chi_{[0,x_n]}, x_n) \geq n, \quad n = 1, 2, \dots ,$$

$$(4.5.17) \quad |f_n| \leq h_n \chi_{[0,x_n]}, \quad f_n(t) = o(t^{-1/n}) \quad (t \rightarrow \infty)$$

and

$$(4.5.18) \quad |\Psi(f_n, x_n)| \geq \frac{3}{4} W_{\Psi}(h_n \chi_{[0, x_n]}, x_n).$$

Define

$$\varepsilon(u) = \begin{cases} 0, & 0 \leq u < 1, \\ \frac{1}{n}, & x_{n-1} \leq u < x_n, \quad n = 1, 2, \dots, \end{cases}$$

where $x_0 = 1$, and let

$$L(x) = \exp\left(-\int_0^x \frac{\varepsilon(u)}{u} du\right).$$

The function L is clearly a decreasing and continuous SV function. Moreover, we have

$$(4.5.19) \quad \frac{L(t)}{L(x_n)} = \left(\frac{t}{x_n}\right)^{-1/n}, \text{ for } x_{n-1} \leq t < x_n, \quad n = 1, 2, \dots,$$

and

$$(4.5.20) \quad h_n(t) x_n^{-1/n} L(x_n) \leq L(t), \text{ for } 0 \leq t \leq x_n, \quad n = 1, 2, \dots$$

The first equality follows immediately from the definition of L . As far as (4.5.20) is concerned, for $0 \leq t < 1$, both sides are equal to 1; for $1 \leq t \leq x$, the inequality follows from (4.5.19) by induction: supposing that (4.5.20) is true for some $n = r$, we shall prove that it is true for $n = r + 1$. If $1 \leq t \leq x_r$, we have

$$\begin{aligned} h_{r+1}(t) x_{r+1}^{1/r+1} L(x_{r+1}) &= \left(\frac{t}{x_{r+1}}\right)^{-1/r+1} L(x_{r+1}) \\ &= \left(\frac{t}{x_r}\right)^{-1/r} L(x_r) \left(\frac{t}{x_r}\right)^{1/r(r+1)} \frac{L(x_r)}{L(x_{r+1})} \left(\frac{x_{r+1}}{x_r}\right)^{1/r+1} \leq L(t). \end{aligned}$$

If $x_r < t \leq x_{r+1}$, we have by (4.5.19)

$$h_{r+1}(t) x_{r+1}^{1/r+1} L(x_{r+1}) = \left(\frac{t}{x_{r+1}}\right)^{-1/r+1} L(x_{r+1}) = L(t).$$

Thus (4.5.20) is proved.

From (4.5.17) and (4.5.18) follows that

$$x^{1/n} |f_n(t)| \leq x^{1/n} h_n(t) \chi_{[0, x_n]}(t) \leq \frac{L(t)}{L(x_n)}$$

for all $t \geq 0$ and

$$x_n^{1/n} f_n(t) = o\left(\frac{L(t)}{L(x_n)}\right) \quad (t \rightarrow \infty)$$

since $f_n(t) = 0$ for $t \geq x_n$. Hence by definition of W_Ψ , (4.5.18) and (4.5.16), we find that

$$\begin{aligned} \frac{1}{L(x)} W_\Psi(L, x_n) &\geq x_n^{1/n} |\Psi(f_n, x_n)| \geq \frac{3}{4} x_n^{1/n} W_\Psi(h_n \chi_{[0, x_n]}, x_n) \\ &\geq \frac{3}{4} n \rightarrow \infty \quad (n \rightarrow \infty). \end{aligned}$$

But this is impossible by (4.5.7). This contradiction proves the necessity of condition (3.10).

4.6. *Proof of Theorem 6. (Sufficiency).* We have to show that for every SV function $L \in \mathcal{M}_0$

$$(4.6.1) \quad \lim_{x \rightarrow \infty} \frac{\Psi(L, x)}{L(x)} = 1.$$

First we have

$$(4.6.2) \quad \left| \frac{\Psi(L, x)}{L(x)} - 1 \right| \leq \left| \Psi\left(\frac{L(t)}{L(x)} - 1, x\right) \right| + |\Psi(1, x) - 1|.$$

Let $0 < \alpha < 1 < \beta < \infty$. Then we have

$$\begin{aligned} &\left| \Psi\left(\frac{L(t)}{L(x)} - 1, x\right) \right| \\ &\leq \left| \Psi\left(\left(\frac{L(t)}{L(x)} - 1\right) \chi_{[0, \alpha x]}(t), x\right) \right| + \left| \Psi\left(\left(\frac{L(t)}{L(x)} - 1\right) \chi_{[\alpha x, \beta x]}(t), x\right) \right| \\ (4.6.3) \quad &+ \left| \Psi\left(\left(\frac{L(t)}{L(x)} - 1\right) \chi_{(\beta x, \infty)}(t), x\right) \right| \\ &\leq |\Psi_{[0, \alpha x]}| + |\Psi_{[\alpha x, \beta x]}| + |\Psi_{(\beta x, \infty)}|. \end{aligned}$$

As in the proof of Theorem 5, we can show that

$$\left| \frac{L(t)}{L(x)} - 1 \right| \chi_{[0, \alpha x]}(t) \leq \left(\frac{P_\eta(\alpha x)}{L(x)} + (\alpha x)^\eta \right) \left(\chi_{[0, 1]}(t) + t^{-\eta} \chi_{(1, \infty)}(t) \right)$$

for $x > 1/\alpha$ and $t \in \mathbb{R}^+$. Since the left-hand side of this inequality is zero for $t \geq x$, we have, by definition of W_Ψ ,

$$\begin{aligned} & | \Psi_{[0, \alpha x]} | \\ & \leq \left(\frac{P_\eta(\alpha x)}{(\alpha x)^\eta L(\alpha x)} \cdot \frac{L(\alpha x)}{L(x)} + 1 \right) \alpha^\eta x^\eta W_\Psi \left(\chi_{[0, 1]}(t) + t^{-\eta} \chi_{(1, \infty)}(t), x \right). \end{aligned}$$

By (4.5.1) and hypothesis (3.10), it follows that

$$(4.6.4) \quad \limsup_{x \rightarrow \infty} | \Psi_{[0, \alpha x]} | \geq \alpha^\eta M.$$

Likewise, for $x > 1/\alpha$ and $t \in R^+$, we have

$$\left| \frac{L(t)}{L(x)} - 1 \right| \chi_{(\beta x, \infty)}(t) \leq \left(\frac{Q_\eta(\beta x)}{L(x)} + (\beta x)^{-\eta} \right) t^\eta.$$

Since $t^{-\eta} L(t) \rightarrow 0$ ($t \rightarrow \infty$), it follows, by definition of W_Ψ , that

$$| \Psi_{(\beta x, \infty)} | \leq \left(\frac{Q_\eta(\beta x)}{(\beta x)^{-\eta} L(\beta x)} \cdot \frac{L(\beta x)}{L(x)} + 1 \right) \beta^{-\eta} x^{-\eta} W_\Psi(t^\eta, x).$$

By (4.5.2) and hypothesis (3.9) we find that

$$(4.6.5) \quad \limsup_{x \rightarrow \infty} | \Psi_{(\beta x, \infty)} | \leq M \beta^{-\eta}.$$

As for the second term of (4.6.3), we have

$$| \Psi_{[\alpha x, \beta x]} | \leq \sup_{\alpha x \leq t \leq \beta x} \left| \frac{L(t)}{L(x)} - 1 \right| W_\Psi(1, x).$$

From the Representation Theorem for SV functions follows immediately that

$$\sup_{\alpha x \leq t \leq \beta x} \left| \frac{L(t)}{L(x)} - 1 \right| = \sup_{\alpha \leq \lambda \leq \beta} \left| \frac{L(\lambda x)}{L(x)} - 1 \right| \rightarrow 0 \quad (x \rightarrow \infty).$$

Hence

$$(4.6.6) \quad \lim_{x \rightarrow \infty} | \Psi_{[\alpha x, \beta x]} | = 0.$$

From (4.6.3), (4.6.4), (4.6.5) and (4.6.6) it follows that

$$\limsup_{x \rightarrow \infty} \left| \Psi \left(\frac{L(t)}{L(x)} - 1, x \right) \right| \leq (\alpha^\eta + \beta^{-\eta}) M,$$

and (4.6.1) is proved by choosing α arbitrarily small and β arbitrarily large.

(Necessity). The necessity of (3.12) is obvious. As for (3.8) and (3.9), in view of the proof of Theorem 5, it will be sufficient to show that our hypothesis (3.11) implies (4.5.7).

Let $f \in \mathcal{M}_0$ be such that $\lim_{x \rightarrow \infty} f(x) = c$. If L is any SV function in \mathcal{M} , let

$$l(x) = (2 \|f\| + f(x)) L(x).$$

The function l is clearly a SV function in \mathcal{M}_0 and we have

$$\Psi(fL, x) = \Psi(l, x) - 2 \|f\| \Psi(L, x).$$

If we define the operator Ψ_L by

$$\Psi_L(f, x) = \frac{1}{L(x)} \Psi(Lf, x),$$

then Ψ_L is a regular operator and

$$\begin{aligned} \Psi_L(f, x) &= \frac{1}{L(x)} \Psi(fL, x) \\ &= (2 \|f\| + f(x)) \frac{\Psi(l, x)}{l(x)} - 2 \|f\| \frac{\Psi(L, x)}{L(x)}. \end{aligned}$$

By (3.11) we have $\Psi(l, x)/l(x) \rightarrow 1$ and $\Psi(L, x)/L(x) \rightarrow 1$ ($x \rightarrow \infty$) and so

$$\Psi_L(f, x) \rightarrow 2 \|f\| + c - 2 \|f\| = c \quad (x \rightarrow \infty).$$

Hence, by Theorem 3, the operator Ψ_L preserves convergence and consequently

$$W_{\Psi_L}(1, x) = O(1) \quad (x \rightarrow \infty).$$

But

$$W_{\Psi_L}(1, x) = \frac{1}{L(x)} W_{\Psi}(L, x)$$

and the necessity of (4.5.7) is proved.